___ DO NOT OPEN THE SEAL UNTIL YOU ARE ASKED TO DO SO
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Answer all questions
Australopithecus were found to be
{A) herbivorous (B) carnivorous
iC) omnivorous (D) only fruit caters
== {Australopithecus) fe=
(A) = (3) e
(C) %= (D) SYATE T - AHS

When urnne contains red blood corpuscles, the condition is known as

{A)] kertonuria B} glvcosuria

{C) hematuna iD) uremia

TS YIE WTEE AGSOW (1AW AN, BwA O WagiBrs wen wm

(A) fer Bttt (B) sr¥Tmrfem
(C) fxpfam ‘D) werafem

Which of the following organelles is found in both prokaryotic and eukaryotic
cells?

1A} Nucleus (B) Ribosome

iC) Mitochondria (D) Endoplasmic reticulum

zmmmwﬁmaﬂhammmmm#meﬂ
(A) =g (B) =raracars

(C) TFERGE (D} stsmmfire cffeters
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4.

which of the following has more affinity for haemoglobin®
(A) CO, (B) 0,

(C) CO (D) NH.,

g1 frafofwe cwmfa feramifara sfs umfe cafuo

@l

(A) CO, B) 0,

{C) CO (D) NH,

Which pigment helps in opening of stomata in the daylight?
(A} Phytochrome iB) Carotene

(C) Phycobilin (D) Plastocyanin

frefafes @m ags omd forsa v OB s e @m0

(A) BRI B) F¥mafh=

(C) wrrafafors (D) smrbrmfa=

6. What is the lifespan of T-cell?

(A) 4-5 months (B) 4-5 years

(C) 4-5 weeks (D} 4-5 days

S T-(emers wrg o=

(A) 4-5 T™ (B) 4-5 awa
(C) 4-5 wery (D) 4-5 M=
?'JB“Sr'nes R 3
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7. Which one 1s used as vector in gene cloning?

(A) Intron (B} Exon

(C) Plasmid (D) Transposon

q1 fea @fac-92 v (@afd cs9 o qa%s Z0°
(A) %107 (B) <%

<) et (D) GraTe=

8. Which organic acid is produced during fermentation?
(A) Citric acid (B) Oxalic acid
(C) Lactic acid (D) Propionic acid

w1 WHA ofFum Teom twa anfwe sa
(A) G =mhr (B) wifaa smhs
(C) =m=fbe smiws (D) confercafae =mfws

9. If a man with Blood Group ‘A’ marries a woman of Blood Group ‘B’, then their
offspring may have the Blood Group of

‘A) ‘O’ only
(B) ‘A" and ‘B’ only
(C) ‘A’, ‘B’ and 'AB’ only
(D) ‘A’, 'B’, "AB" and ‘O’
S A ama efers @ afe afi B aten feye (A wiene faar I, srem svEe
g fanfufee e area ufige o3 «ma?
(A) wyura Q' cufe
(B) aqura ‘A’ 6 ‘3’ i
(C) wywra ‘A", ‘B’ @ ‘AR o
(D) ‘A", ‘B’, ‘AB’ & ‘O’ caf*
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10. Which part of human brinn s more developed from others parts
(A} Optic lobe (£3) Cerebedlum

(C) Cerebrum (1)) Medulla

Yol WA SHUAA Bl e sl uvma smeiin uins Lere

(A) @viba Conra (13) wjufyx (erswm,
‘C) s¥afyx (oifaam) (1)) =zen

11. Pacemaker and Pace setter of hearts are
(A) SA node and papillary muscles
(B) SA node and AV node
(C) SA node and bundle of His

(D) SA node and Purkinje fibers

1 Fefmaa ooTIEE 8 o oI Tw
(A) SA =TE 8 smisrenfa corfe
(B) SA TS 8 AV TS
‘C) SA =13 8 ferwa afem
(D) SA 7S 8 *mfefe =§

12. Helicobacter pylori is responsible for creating which disease?

(A) Bronchitis (B) Liver cirrhosis

(C) Peptic ulcer (D) Jaundice

sy rafeEraranaihe “yraAfa (@ et vIGR?
‘B) frzm St

(D) wf=n

(A) ZE2DH

(C) oofha =
5
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13, Which one of the tollowing 1s asymmetnc flower/
(A) Canna (13) Clhitoria

(C) Hibywscus (1)) Crotalaria

Y01 b (Blof pafb syvodpy
(A) P18l (Cianna) (B) weaifer® (Clitoria)
(C) 491 (Hibisceus) (D) «eA (Crotalaria)

14. Function of osteoblast is
(A) destruction of bone
(13) secretion of ealeitonin
(C) deposition of it in bone

(D) formation of new bone and its maintenance

Y81 wbLyany aa @rs 20
(A) «lg wnl @a
(13) @naPIhifaa -aq waq s
(C) wigre uw sey a4

D) g wfg e 27 & AN T

15. What is known as Ecotone?
(A) Intermediate region between two ecosystems
(I3) Study about ecosystem
(C) Aggregation of ecosystem
(D) Stabilization of ecosystem
Yai Branhia e &) w4 %W
(A) %5 Bramioiu (4gey) - 92 wnad) wawn
(B3) agsigs o
(C) agsFa OTFsIa
) agTya fefssas
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16. Find out the wrong answer from the following
(A) ER forms the skeleton of cvtoplasm
(B) Lysosome secretes enzyme and digests food within cell
(C) Centrosome conserves all foods of cell

(D) Golgi body controls secretion of cells

Yoo ‘e urs 3w taai ¥% a2 52
(A) FERUTEE auTE wm e ER
(B) #%DIDMR Teoma was e e p—
(C) ORIom BT v ey a7z

(D) T wa fRage 32 s oy

17. What is the name of the nerve associated with hear?
{A) Oculomotor iB) Trochlear

(C) Spinal accessory (D) Vagus

Y91 Zeforaa wTw go Fge A &0

(A) wfeEramaba (B) eferra
(C) =ME=me WRIa (D) ==

18 The maximum amount of blood, ejected from each ventricle per minute is

called
(A) cardiac index (B) stroke volume
(C) minute volume (D) cardiac output

Yy ofy G w7 ofE WD @ TA® W 73 2w W = e

{‘\Iﬁ’f‘w BJE‘!"!.-.'
(C) TS erm (D) o712 Zews
7-JB—Series R 7 PTO
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19. Which part of the cell contming anthocynin?

(A) Chloroplast (13) Chromaoplast

(C) Leucoplast (1)) Vacuole

91 ST (IO (Do) M A9

(A) GPILaaps (13) CAILHIES

GRLAICT. (1)) SNpsa

20. Find out the best wavelength of light to get maximum resolving power in

light microscope.

(A) 10A (13) 300 A

(C) 30A (D) 3000 A

Yol wrHe ssdima gy ndiine (qwafor ware) waia wap wimaa Seqy vam el o e

2
‘A) 101\ (3) 300 A
(C) 30A (D) 3000 A

21. Sex-factor in bacterial body ig

(A) s-RNA
/A

(C) replicon |
D) F -factor

{A) s-RNA

(B) Gray_fa
. . — N (Sex. it
- 1C) Ser (replicon) _ “X-pili)
7-JB—Series R (D) F-gp3q
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(C) Vitamin g o
) Vitamin A

1&} EG‘-:-W-'::
(B) febifam-fe
(C) febifam-
2 (D) febifim-a

23. >
Where do yYou find plants and animals in protected state?
(A) National Park__ (B) sgnctuarry
(C) Zoological Garden (D) Botanical Garden

_(A) =@ Twrrs (ﬂ]T"f?-’l?r on-éi) (B) wrewirey (smsparfa)
(C) fofearamr _ (D) Q1= smess

24. Mountain sickness occurs at high altitude, because of
(A} blood contains more COI,_2
(B) air contains less CD2
(C) activity of haemoglobin diminishes

-[D) partial pressure of oxygen decreases

8 wfvr Twem AdeAel T, IAA
(A) T wfsiE CO, AIF
(B) Imws =% CO,, A=
'C) femanfer=a FrfwISH 3% 950

(D) wfeca wnefre oreR 3 ﬂry
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25. Which one is the longest cell in animal body?
1e
(A) Osteocyte (B} L}‘mPhOC}

re
(C) Neuron (D) Chromatopho
2a) oTE T SeT @M eEl
(A) &Fa2h (B) B0
1C) WEwm (D) GFISTRTATR

26. Which hormone is called Fight and Flight’ hormone?

(A} ADH (B) Thyroxine

(C) Vasopressin (D) Adrenaline
W R S TS gy e

M) a.fe. a%, (ADH)
(C) Srtamefim

LE T
(B) «rz=fem
(D) =R

27. Which of the following procedures is used for production of Test-Tube baby’
(A) GIFT [Gamete Intrafallopian Transfer]

(B-] ZIFT |Zygote Intrafallopian Transfcil_
(C) ICSI [Intracytoplasmic Sperm Injection)

(D) 1U1 [Intrauterine Insemination)

2ttt wfgm s s o of mrft bt R Teoraraa o

(A) GIFT (5T YGremenforas Grompm)

(B) ZIFT [@iammb !Mﬁ
X

(C) ICSI [Phrmabersfas -qmmm

(D) 1U1 (ehiesans haeaiio
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8. What do you understand by syngamy?

(A) Fusion of cytoplasm
(B) Union of similar two spores

(C) Union of two dissimilar spores

o e T———
(D) Union of two gametes

2l i 3o § @rie
(A) FRhTTEeR few
(B) «3% g93® ¥’ ceeizm fiem

(C) T sjuz =i omaa e
(D) shitavaws fe=
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29. Which of the following is responsible for ozone-layer depletion?
(A) PAN (B} CO,

(C) CFCs ' (D) Combustion of Coal

15| ST TR fRE 26TM T TR D TRl

https:/www.tripuraboard.com

(A) PAN (B) CO, Whatsapp @ 9300930012
D - Send yvour old paper & get 10/-
C) CFCs (D) F W A g9 3R 10 I 9,

Pavtm or Google Pay &

30. Which one of the following is essential for genetic engineering?
(A) RNA synthetase | (B) DNA ligase
(C) Reverse transcriptase (D) DNA polymerase

ol famR @ coEbe MefFafae-a stz ?
(A) RNA f=rates (B) DNA #Hi%msie

(C) fsrf Grefaret=s (D) DNA sif#ramzs

7-JB—Series R
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